& I.'_-H. 6 @ 9x93f€;£(1007H)

Y4 H HA: par
4x6= 6x 5= 5x 1= 8 x 3= 7Tx 4=
8x 9= 2% 6= 6x1= 9x 2= Tx 5=
4x3= 4x 8= 2x 6= 2x 7= &x 5=
5x3= 5x2= 1x6= 9x 7= Ix6=
6% 6= 2x3= Tx 5= 9x 9= 8 x 5=
8x 7= 4x 8= S5x5= 5x 2= 5x 1=
1x2= 2x 1= 2X 6= I x9= 4x 4=
7% 4= 9x 5= 4x2= 4x7= 6x 8=
Tx5= 2x 1= 5x 8= 3x 4= 6x 6=
6x 7= 2% 7= 9x 1= 1x 8= 9x 2=
Ox 8= Tx5= 2X 6= Tx2= 4x 4=
8x 6= 5x3= 8x 8= 3x 4= 3x 8=
2x6= 9x2= Ox 4= 7x 4= Ox 6=
5x5= 4x5= 2x3= 4x 1= 5% 7=
2x9= Tx1= O9x1= 1x5= 6x 8=
8x 8= 1x8= 9x 6= Ix1= 2x 5=
4x 8= 1x2= 9x 2= 5x 9= 6x 7=
Sx1= I x3= 4x9= Ox 5= Tx 6=
2x3= 3x3= 9x5= I x1= Tx 1=
Tx3= 9x2= Tx 7= 4x9= Tx 6=
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9x93€;2(100:H)
Y4 H H: TrEL:
4% 6=24 6x5=30 5x1=5 8x3=24 7% 4=28
8x9="72 2x6=12 6x1=6 9x2=18 7x5=35
4x3=12 4x8=32 2x6=12 2xT7=14 8x 5=40
5x3=15 5x2=10 Ix6=6 9xT7=063 Ix6=6
6x6=236 2x3=6 7x5=35 9x9=281 8 x 5=40
8x7=156 4x8=32 5x5=25 5x2=10 5x1=5
1 x2=2 2x1=2 2x6=12 1x9=9 4x4=16
7x4=28 9x5=45 4x2=28 4 x7=28 6 x 8§ =48
7x5=35 2x1=2 5x8=40 3x4=12 6x6=236
6x7=42 2x7=14 9x1=9 1x8=38 9x2=18
Ox8="72 7x5=35 2x6=12 Tx2=14 4x4=16
8% 6=48 5x3=15 Ex 8§=064 3x4=12 3Ix8=24
2x6=12 9x2=18 9x4=36 7% 4=28 9x 6=>54
5x5=25 4x5=20 2x3=6 4x1=4 5x7=35
2x9=18 Tx1=17 9x1=9 Ix5=5 6x 8=48
E&x 8§=64 I x8=8 Ox6=54 Ix1=1 2x5=10
4x8=32 Ix2=2 9x2=18 5x9=45 6x7=42
5x1=5 1x3=3 4% 9=36 9x 5=45 Tx6=42
2x3=6 3x3=9 9x 5=45 Ix1=1 Tx1=17
7x3=2I 9x2=18 7x7=49 4%x9=36 7Tx6=42
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